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Section A | Answer All The Following Vsaq

1.Find the slope of thex+y=0and x-y=0.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dR6X2gROdizV

2. Transform the equation of x +y+1 =10
into

Normal form

o Watch Video Solution

3. If (3,2,-1),(4,1,1) and (6,2,5) are three vertices
and (4,2,2) is the centroid of a tetrahedro, find

the fourth vertex to that tetrahedron.

o Watch Video Solution



https://dl.doubtnut.com/l/_dR6X2gROdizV
https://dl.doubtnut.com/l/_qpKziBukvatG
https://dl.doubtnut.com/l/_2N7QNiGJX4TL

4.Find the angle between the planes 2x -y + z

=6andx+y+2z=7.

o Watch Video Solution

Tx
. e —1
5. Evaluate lim
rz—0 xXr

o Watch Video Solution

2
2
6. Compute lim r”+ 5%+
z—oo 22 — 5r + 1



https://dl.doubtnut.com/l/_2N7QNiGJX4TL
https://dl.doubtnut.com/l/_sEGaGo4ErpLT
https://dl.doubtnut.com/l/_hKr3OrXAnWvV
https://dl.doubtnut.com/l/_zhAcpNpMpJPB

I o Watch Video Solution

7. Find the derivative of 5sin z + e” log x .

o Watch Video Solution

1 d
8.1fy =sec | ———— | find _y
2z2 — 1 dx

° Watch Video Solution



https://dl.doubtnut.com/l/_zhAcpNpMpJPB
https://dl.doubtnut.com/l/_90Xg8Itz5YR5
https://dl.doubtnut.com/l/_dI5yJO2R2Kck

9.Find Ay and dy for the function y = 2% + «

,whenz = 10, Az = 0.1

o Watch Video Solution

10. Verify Rolle's theorem for the function

y= f(z) = z? + 4on [3,3]

o Watch Video Solution

Section B li Answer Any Five Of The Following

Saqgs



https://dl.doubtnut.com/l/_w11arkbYGtIF
https://dl.doubtnut.com/l/_KBNg2ZFlzi2F

1. A(1,2), B(2, —3),C( — 2,3) are 3 points.
A point P moves such that
PA* + PB* =2PC*? . show that the

equation to the locus of Pis 7x-7y+4=0.

° Watch Video Solution

2. When the axes rotated through an angegle

s

T find the transformed equation of

3z + 10zy + 3y* = 9.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gm8TiF1GBCpk
https://dl.doubtnut.com/l/_oX4yJggazfbT

3.Find the value of p, if the lines3x+4y=5,

2x+3y=4,px+4y=06are concurrent.

o Watch Video Solution

4. Check the continity of the following

function at 2
s(@?—4) if 0<z <2
f(z) =10 if £ =2
2 -8z 3 if £ >2

o Watch Video Solution



https://dl.doubtnut.com/l/_oX4yJggazfbT
https://dl.doubtnut.com/l/_Y58aM02q8Hm0
https://dl.doubtnut.com/l/_VZCsPMD7B8y4

5. Find the derivative of cot x from the first

principle.

o Watch Video Solution

6. A particle is moving in a straight line so that
after 't' seconds its distance is 'S' (in cms) from
a fixed point of the line is given be S=f(t)=
8t + t°.

Find (i) the velocity at time t=2 (ii) the initial

velocity (iii) acceleration at t=2 sec

| & I


https://dl.doubtnut.com/l/_slh30jdWEYJm
https://dl.doubtnut.com/l/_5ROP3ZtS3ON0

| ¥ Watch Video Solution |

7. Find the equations of tangent and normal

to the curve xy=10at (2, 5)

o Watch Video Solution

Section C lii Answer Any Five Of The Following

Lags

1. Find the circumcenter of the triangle whose

vertices are (-2,3),(2,-1),(4,0).



https://dl.doubtnut.com/l/_5ROP3ZtS3ON0
https://dl.doubtnut.com/l/_8C8zeRhCHhAB
https://dl.doubtnut.com/l/_3oLUsQMX3zPD

\ o Watch Video Solution

2. Prove that the aea of the triangle formed by

y=a+c and the pair of lines

e2\/h? — ab

9 2 .
ax® + 2hxy = by =0 is
v la + b+ 2h|

sq.

units.

° Watch Video Solution

3. Find the value if k, if the lines joining the

origin with the points of intersection of the


https://dl.doubtnut.com/l/_3oLUsQMX3zPD
https://dl.doubtnut.com/l/_hbyefRNAFTSB
https://dl.doubtnut.com/l/_Ggj1egdC5ms4

curve 222 — 22y + 3y* + 22 —y — 1 = 0 and

the x + 2y = k are mutually perpendicular.

° Watch Video Solution

4.Find the angle between the lines whose d.c's
are related by

l+m+n=0&°%+m?—-—n?2=0

° Watch Video Solution

d .
5. Find —y ’ ify — (Sinx)k)gm + xsmaz
dz


https://dl.doubtnut.com/l/_Ggj1egdC5ms4
https://dl.doubtnut.com/l/_PlrhTYo4LQH2
https://dl.doubtnut.com/l/_o5NbbJ5B7CAz

° Watch Video Solution

6.Find the angle between the curves xy=2 and

z? + 4y = 0

o Watch Video Solution

7. A wire of length | is cut into two parts which
are bent respectively in the form of a square
and a circle. What are the lengths of pieces of

wire so that the sum of areas is least ?

| e |


https://dl.doubtnut.com/l/_o5NbbJ5B7CAz
https://dl.doubtnut.com/l/_V6Qxbmave7AL
https://dl.doubtnut.com/l/_SVAyRmpp32Kc

& Watch Video Solution



https://dl.doubtnut.com/l/_SVAyRmpp32Kc

